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4. fF B WCI2INAPILE  2742772[ 2] 4.1 AR HEB)NAPILA  2712739[ 3]
5.7 K A (Cl12)=A FLfEI 249751 8] 5.7 K A #(E15)Z4S S 211750 2]
6.% ¥ F /r(B10) J S SH AT 2°52705[ 3] 6.7 Ji # BH(ELE)LESS 2°19790[ 4]
7.9 #Z—p(C1) A S C 2" 49718[ 7] 700 B OHwOINAPILA 2°27759[ 3]
8.k K& & MECIDNAPLIE 3 00740[20] 8. i Fm ZE(D14) =A 7Vl 2727790 4]
[ 7#1])
L & 15 EHZCIHNAPLAE 247703 6]
2.k A % #HCl12) =4 Rl 27457 11[ 3]
.k & H O #®13) SV A— 2734739 8]
4.1 A O H(CI2JNAPLE 2728727 1]
5.5 A 4 wn(DI3)K S GHIHE  2733744[ 7]
6.8 & f& KO =IEE  2°35779[10]
7.6 B o (D14 OSKIIL  2°38763[11]
8. & | #t HI(C12) J SSHAH 2°50771[11]

7237



